
Module 3 :Analysis & Monitoring
Module 3.1 : Cost Efficiency 
Task:  		Cost Efficiency calculation
Objective: 
Participants are able to calculate the cost of each response option and determine the most cost-efficient option
Description: 
Use the instructions wisely. Tip : Calculate the cost for the foods basket for each modality separately.
Time:
20 minutes
Instructions: 
Food Basket (per HH) : 
· 75kg of cereal
· 12kg of beans 
· 5L of oil
Additional info: 
Logistics prices for bulk purchase (delivery capital):
· 1 metric ton of cereal: CHF 500
· 1 metric ton of beans: CHF 700
· 1 metric ton oil: CHF 1,000
Prices on the local market:
· 1 kg of cereal: CHF 0.6 
· 1 kg of beans: CHF 0.8
· 1 liter of oil: CHF 1.4
ITSH rate (average): CHF 173 / metric ton
Cash distribution (through bank): 
· Bank fee: 4% of transfer value
· Card cost: CHF 0.5 per card
· Other distribution cost: CHF 0.5 per household
E-voucher distribution:
· E-voucher system cost: 5% of transfer value
· Equipment cost: CHF 1.5 per household
· Other distribution cost: CHF 0.5 per household
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